Year 4 Addition and Subtraction

Q1.Write the four missing digits to make this addition correct.
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6 8

90119

2 marks
Q2.Calculate 735 + 2669.
.1"%{':‘
1 mark
Q3. Calculate 2006 — 289
.
1 mark

Q4. Calculate 6247 — 2752

Page 1



Upton Junior School

1 mark
Q5. Write the missing numbers.
*e 57+ = 125
1 mark
5 X = 175
1 mark
Q6.

Dev and Joe each buy a book.
Dev pays with a £5 note and gets £1.05 change.

Joe’s book costs £7

How much more does Joe’s book cost than Dev’s book?

Page 2



Upton Junior School

Showy
your working.
You may get
a mark

Q7.

Big Wheel
£2.50
each ride

Rollercoaster
£1.50
each ride

Liam spends £14 altogether on the Big Wheel and the Rollercoaster.

He goes on the Big Wheel twice.
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How many times does he go on the Rollercoaster?

Shiow
your working.
You may get
a marlk

Q8. Joe has a box of 72 chocolates.

He gives 18 of the chocolates to his friends.

How many chocolates are left in the box?

%

Holly has a box of mints.

She has 10 friends.
She gives them 5 mints each.
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chocolates

2 marks

1 mark



She has 13 mints left.

How many mints were in the box at the start?

:‘%1
1 mark
Q9.
3 470]
+
10075
5051
2 marks
Q10. Kirsty, Seb and Mina made toffee apples to sell at the school fair.

They made 80 toffee apples altogether.

Kirsty sold 12 toffee apples.
Seb sold 25 toffee apples.

Mina sold 17 toffee apples.
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How many toffee apples were left?

(‘%ﬁ%“

—

Show
your
working

N

Kirsty sold her 12 toffee apples for 50p each.

How much money did she collect?

Q11.

Write in the missing numbers.

%

75
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200

2 marks

1 mark

1 mark

1 mark
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